ACCOUNTING  AND FINANCE
* Second Paper (Business Statistics)

Time allowed : Three hours | Maximum Makes: 100
Part- A (FT-3A)
1. What is the meaning of “statistics’ in plufal sefise ?
o | gifers & T e 2 2
2. Why primary data are called original.data ?
efes GHl A A FHEd € ?
3. Wages are given for 50 workers, The maximum and minimum wages

are Rs. 500 and Rs. 100 respectively and 10 classes of equal class
intervals are to be formed» How will you find out the class interval?

s0 gt &1 ke fer fear gon ¥ 1 3fe sifaswaw Al 500°%. ae
=Jad 100 % %mmw?ﬁwﬁﬁﬁwﬁam‘@?ﬁmm

5T YR TAHCT ?
4. If the value.of mediam (M) = 45 and mode (Z) 50, find the vaiue of

miean, (X, A& TEAeH = (M) ¥5 TR AEAS (Z) =50 T d GH

\
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10.

11.

12.

. .00 _HHF S |

"

| frequencies in order/The ]

Differentiate between simple and multiple correlation.

T T SR e H Sl e |

Give formula for finding out probable erroe and standard error.
o s e v s & o s |

If the aggregative prices of current year are 300 and that of base 500,

_ calculate index number for current year.

| -uﬁaﬂaﬁﬁqeﬁmmsowménmaé%q@mmsod%ﬁ

<y a4 % YEHHI <l T T |

State the phases of cyclical fluctpations.

g SeEEA % W0 AR |

What do you understand by joint probability ?

o Wil @ ST T AN g7

What is extrapolation ? STRIFTUFT <1 7,
- Part - B (CTF-9) SRty

A frequency tablehas six class interva}s with 3, 9, 15, 30, 18 and S as

eft:end point of third class interval and

midpoint of fifth class ifiterval are 20 and 45 respectively. Set up

frequency wble.'ﬁaﬁﬁﬂmﬁﬁ6m§,aﬂﬂﬁaﬁﬁﬁfmz

3,9,15, 30,18 T 5% | v et 3 S A e o wiEs T

=7 aea fagshnRT ¢ 20 T45% |-a11qﬁlmﬂﬁa-—n§a|

Claculate missing marks from the following dataif Arithmetic mean

isd 1.5 marks>
Fopr= Gl 4 M@ S i G T Hiod FfE THR A 11.5 3k

B~

- Marks No. of students
' 4 10
6 15
10 20
a , 25
15 . 12
18 10
20 | 8
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13. From t}}e following data, calculate rank correlation coefﬁment
o=t gHeT @ THIG -y U §d A

S.No. Rank differences (D)

1. -4

2 -2

3 +3

4 -1

) ” 5 [ 0

6 +2

7 ?

-8 +3

9 -2

10 +3

14. From the following Chain B%e Indices, caleulate fixed base index
numbers :
= aa?n YR qamair # ﬁran YR GaHis 1 ftor Hiferd-
| Year Chain Base Index Numbers
| | (CB.I:Nos.)

.. | 2006 N\ 120
2007 | WAL . 15
2008 PN 150
2009 ) 140
201001 110
2011 90
2012 | . 80
2013 125

The mean = 31 and standard deviation = 15.9
15! Calculate permutations of the letters of the following words :

ﬁﬂmﬁ%mﬁﬁaﬁmﬁmmmaﬁﬁ&
@ SOFTWARE (ii) STATISTICS
Part - C (AF1-%) |
Unit- (-0
16. Find the actual class group from the following data :
fpffaa TRl & arta o faear 91 Sifsa-
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17.

18.

19.

@)

®)

| ‘dx’ . Frequency

1 g \ e
-3 10
-2 15
_.1 25
Y -25
1 10
2 *10
3 5

THRIC AT = 31 3Ry fo=e = 15.9
Differentiate between Dispersion and Skewness. What are the vari-
ous methods of measuring skewness ? Explain,

ﬁm@mﬁwm%?ﬁWMﬁaﬁqﬁﬁﬁﬁﬂﬁﬁ

T g |
Unit-11 G510
Given: YaId TE ®-
Two Regression Equatiofis &l AT THIRLOT
8X-10Y +66=0
40X - 18Y =214
The variance of Xis 9. Find out :
@ The mean value of X and Y

Gi) . Correlation coefficient between X andY
() ¢ - Standard deviation of Y

X TR0 9 &1 T R

@O XIysweE o

@) XY %o e T N

Gii) YFIT T
What is Fisher’s ideal index number ? What are its demerits ? Why it

is called ideal ? Explain with examples.
fipR 1 ST R € ) o T § 2 T oTay i e
S 2 7 e wfed Hifad |

- Unit I (5%E-111)
What is meant by interpolation ? What are the assumptions on which
methods of interpolation based ? Comment on the necessity and

usefulness of interpolation

»
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ST Q 3119 5] GHEE, ¥ 2 oo st faferi fif Al ®
SNRE § 2 STRICTIM S ST¥dshal To STANT1 ht HHte i |
21. (i) A problem in statistics is given to three students P, Q and R. Whose
Chance of solving it are 1/3, 1/4, 2/5 resperctively. What\is the
probability that the problem will be solved ?
Wiferh! % T 991 F1 P, Q 3R R R shHW: T 7 &t THIEAI 1/3, V/
4, 2/5 % T Witdsm & & T g@ S wAm 2
(i) A university has to select an examiner from adistof 50 persons, 20 of

them are women and 30 men. What is probablhty of the university
selecting a woman examiner ?

w fowafaaem 50 Wae # gHL A tF Wes W wae
I 20 Afged 3R 30 m%lwm%ﬁm@ﬂﬁm
e 1 TIT HAN 2
(iii) Find the probalility that aTeapyea r will have (i) 53 Wednesdays (i1)
53 Wednesdays'of Thursdays.
T i # (), 53, 4EAR () 53 FHAR A1 TR B i g 3@
Fifs | '

(iv) InaP.E.T.éxamination 100 questions each having four altematives
are asked. 3\Marks are awarded for a correct answer and I mark is
deducted\for a wrong answer, If a student fills all answers in the
answer sheet without looking at the question-booklet, find out his
expected marks.

433, e | 1wmﬁmmﬁw@aﬁ%m€rwﬁm3
ey rremr & o T S QA W 1 i ey T & 13 e feyeme faem

- yE-giae 3@ SW-IRasm § W vl W 39 W I 8, A IWH
mﬁmaﬁmﬁﬁﬁn
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